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1. Most parts of Africa have low population

density because :

(A) Unadaptive environment

(B) Inhabit of primitive people

(C) Limited growth of families

(D) Mortality rate is too high

2. The population cluster most similar to

European one in terms of population

structure is :

(A) North America

(B) South Asia

(C) Africa

(D) South American

3. The area showing the highest birth rates

(about 4%) is :

(A) Africa

(B) Australia

(C) South-East Asia

(D) North America

4. One of the migrations caused by politico-

religious forces was that of :

(A) Portuguese to South America

(B) Britains to Australian

(C) Jews to Israel

(D) All of the above

5. Which one of the countries divide African

continent into two cultural realms?

(A) Sudan

(B) Africa

(C) Nigeria

(D) Ethiopia

1. vÝhdk ds vf/kdka'k fgLlksa esa fuEu tula[;k

?kuRo gS D;ksafd %

(A) izfrdwy okrkoj.k

(B) vkfne yksxksa dk fuokl

(C) ifjokjksa esa lhfer o`f)

(D) vR;f/kd e`R;q nj

2. tula[;k lajpuk ds ekeyksa esa lcls vf/kd

;wjksih; ds leku tula[;k lewg gS %

(A) mRrjh vesfjdk

(B) nf{k.kh ,f'k;k

(C) vÝhdk

(D) nf{k.kh vesfjdk

3. fuEu esa ls dkSu&lk {ks= mPpre tUe nj

¼djhc 4%½ fn[kkus okyk gS\

(A) vÝhdk

(B) vkLVªsfy;k

(C) nf{k.kh&iwohZ ,f'k;k

(D) mRrjh vesfjdk

4. jktuSfrd&/kkfeZd rkdrksa ds dkj.k gq, izoklksa

esas ls ,d ;g Fkk fd %

(A) iqrZxkfy;ksa dk nf{k.kh vesfjdk esa

(B) fczVsu dk vkLVsªfy;k esa

(C) ;gwfn;ksa dk btjkby esa

(D) mijksDr lHkh

5. dkSu&lk ns'k vÝhdk egk}hi dks nks lkaLd̀frd

ifje.Myks eas foHkkftr djrk gS %

(A) lwMku

(B) vÝhdk

(C) ukbthfj;k

(D) bfFk;ksfi;k
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6. The Migration Zone theory of Race evolution

was propounded by :

(A) Taylor

(B) Kropotein

(C) Huntington

(D) Barrows

7. Behavioural Geography is an idea of :

(A) Pre - classical geographers

(B) Classical geographers

(C) Modern geographers

(D) Radical geographers

8. The famous determinist in Human

Geography was :

(A) E. Semple

(B) Humboldt

(C) Ritter

(D) Brunche

9. Geographical Voluntarism :

(A) Man's mode of life is a result of

interaction between man and his

environment

(B) Man determines his own mode of

life

(C) Nature is omnipotent and it

determines the modes of life of a

man

(D) Humanism

10. "Nature doesn't drive man along a particular

road, but it offers a number of opportunities

from among which man is free to select" :

(A) Deterministic approach

(B) Possibilistic approach

(C) Both (A) and (B)

(D) Neither (A) nor (B)

6. ekbxzs'ku tksu F;ksjh vkWQ jsl boksY;w'ku
fdlus izfrikfnr dh\
(A) Vsyj
(B) ØksikssVhu
(C) gafVaxVu
(D) cSjks

7. O;kogkfjd Hkwxksy fopkj gS %
(A) izh&Dykfldy ft;ksxzkQlZ dk
(B) Dykfldy ft;ksxzkQlZ dk
(C) ekWMuZ ft;ksxzkQlZ dk
(D) jsfMdy ft;ksxzkQlZ dk

8. ekuo Hkwxksy esa izfl) fu;froknh leFkZd Fkk%

(A) bZ- lSaiy

(B) gEcksYV

(C) fjVj

(D) caw'k

9. HkkSxksfyd LosPNkpkfjrk %
(A) euq"; dk thou euq"; vkSj mlds

i;kZoj.k ds chp ijLij fØ;k dk
ifj.kke gS

(B) euq"; vius thou dks Lo;a ls
fu/kkZfjr djrk gS

(C) izd̀fr loZ'kfDreku gS vkSj ;g euq";
ds thou ds rkSj rjhdksa dks fu/kkZfjr
djrh gS

(D) ekuorkoknh
10. ^^izd`fr euq"; dks fdlh fo'ks"k ekxZ@

rjhds ij ugha ys tkrh gS ysfdu ;g
mi;qDrrk iznku djrh gS ftlls euq";
p;u ds fy, LorU= gS** %
(A) fu;froknh mikxe
(B) laHkkoukoknh mikxe
(C) nksuksa (A) vkSj (B)

(D) u rks (A) vkSj u gh (B)
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11. Horticulture is the most widespread in the :

(A) Mediterranean regions

(B) Sub-tropical regions

(C) Temperate regions

(D) Equatorial regions

12. Which one of the following mining areas is

significant for different mineral from that of

the other three areas?

(A) Kuznetsk

(B) Fushun

(C) Karaganda

(D) Kirkuk

13. Find out the incorrect pair :

(A) Liberia - Iron ore

(B) Togo - Phasphate

(C) Niger - Uranium

(D) Sierratone - Bauxite

14. Find out the correct one :

(A) Chicago - Biggest railway junction

(B) St. Louis - Famous livestock market

(C) Detroit - Important river port

(D) Kansas - Automobile industry

15. The most salient contribution to the study of

spatial diffusion processes was made by :

(A) Haggerstrand

(B) Hagget

(C) Hartshorne

(D) P. Sparrow

11. ckxokuh lcls O;kid gS %

(A) Hkwe/;lkxjh; {ks= esa

(B) miks".k dfVca/kh; {ks= esa

(C) 'khrks".k {ks= esa

(D) fo"kqor {ks= esa

12. fuEufyf[kr esa ls dkSu&lk [kuu {ks= vU;

rhu {ks=ksa ls fHkUu [kfut ds fy, egÙoiw.kZ

gS\

(A) dqTusRld

(B) Qq'ku

(C) djkxUMk

(D) fdjdqd

13. dkSu&lk lewg lgh lqesfyr ugha gS\

(A) ykbcsfj;k & ykSg v;Ld

(B) Vksxks & QkLQsV

(C) ukbtj & ;wjsfu;e

(D) fl;jkVksu & ckDlkbV

14. dkSu&lk lewg lgh lqesfyr gS\

(A) f'kdkxks & lcls cM+k jsyos taD'ku

(B) lsaV yqbl &  izfl) i'kqikyu cktkj

(C) MsVªk;V & izfl) unh iksVZ

(D) dSulkl & vkWVkseksckby m|ksx

15. LFkkfud izlkj izfØ;kvksa ds v/;;u esa lcls

izeq[k ;ksxnku fdlus fn;k Fkk\

(A) gSxjLVªSaM

(B) gSxsV

(C) gkVZ'kksuZ

(D) ih- LiSjks
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16. The earliest human fossils were discovered

in :

(A) China

(B) Indus Valley

(C) Central Java

(D) Harappan Civilisation

17. "The Racial Stock of Northern Europe" is

known as :

(A) Mongoloid

(B) Mediterranean

(C) Nordic

(D) Amerind

18. Jacobs and Stern has classified world races

into

(A) 11

(B) 9

(C) 12

(D) 8

19. Figure out the incorrect pair :

(A) Natal - South Africa

(B) Yakut Basin - Ukraine

(C) Talcher - India

(D) Durham - U.K.

20. Find out the inappropriate pair :

(A) Balikpapan - Indonesia

(B) Ghawar - Saudi Arabia

(C) Texas - China

(D) Daly Basin - Australia

16. lcls igys ekuo dadky ds vo'ks"k ik;s x;s

Fks %

(A) phu esa

(B) flU/kq ?kkVh esa

(C) e/; tkok esa

(D) gM+Iik lH;rk esa

17. ^^n jsfl;y LVkWd vkWQ ukWnZu ;wjksi** tkuk

tkrk gS %

(A) eaxksykWbM ls

(B) Hkwe/;lkxjh; ls

(C) ukWfMZd ls

(D) vesfjaM~l ls

18. tSdCl vkSj LVuZ us fo'o dh ekuo tkfr dks

oxhZdr̀ fd;k %

(A) 11

(B) 9

(C) 12

(D) 8

19. fuEu esa ls vlR; tksM+s dk irk yxkb;s %

(A) uVky & nf{k.k vÝhdk

(B) ;kdwr csflu & ;wØsu

(C) rypj & Hkkjr

(D) Mjge & ;w-ds-

20. fuEu esa ls vlR; lewg dks igpkfu, %

(A) ckfydikiu & baMksusf'k;k

(B) ?kkoj & lÅnh vjc

(C) VsDlkl & phu

(D) Msyh csflu & vkLVªsfy;k
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21. The true Negro group is found in :

(A) Guinea coast

(B) Sudan

(C) Central Africa

(D) Eastern Highlands of Africa

22. Figure out incorrect statements :

(A) Ainus are found in Argentina

(B) Mongoloids were the earliest races

to inhabit the planet

(C) Hottentot belongs to Negroid race

(D) Kholsnoids include both the

Hottentots and Bushmen

23. Figure out incorrect pair :

(A) Urban Growth stage - Thomson

(B) Unified field theory - S.B. Jones

(C) Mercantile Model - J.E. Vance

(D) Diffusion Curve - Clark

24. Figure out the correct statement :

(A) Humanistic geography depends on

the growing need of social

relevance of the subject

(B) Humanistic geography drew much

from the radical trend in geography

(C) Both (A) and (B)

(D) Neither (A) nor (B)

21. okLrfod ukbtj lewg ik;k tkrk gS %

(A) xq;suk dksLV esa

(B) lwMku esa

(C) dsUnzh; vÝhdk esa

(D) vÝhdk dh mPp iwohZ Hkwfe esa

22. fuEufyf[kr esa ls dkSu&lk lgh lqesfyr ugha

gS\

(A) ,sul vtsZaVhuk esa ik, tkrs gaS

(B) eSxksykbM~l xzg ij fuokl djus okyh

lcls 'kq:vkrh tkfr Fkh

(C) gksVsaVksV fuxzksbM tkfr ls gSa

(D) [kksYluksbM esa gksVsaVksVk vkSj cq'keSu

nksuksa 'kkfey gSa

23. dkSu&lk lgh lqesfyr ugha gS\

(A) vcZu xzksFk LVst & FkkWelu

(B) ;wuhQkbM ÝhYM F;ksjh & ,l-ch- tksUl

(C) edsZUVkby ekWMy & ts-bZ- osUl

(D) fM¶;wtu doZ & DykdZ

24. dkSu&lk dFku lgh gS\

(A) ekuorkoknh Hk wxk sy] fo"k; dh

lkekftd izklafxdrk dh c<+rh

vko';drk ij fuHkZj djrk gS

(B) ekuorkoknh Hkwxksy us Hkwxksy ds

jsfMdy izo`fRr;ksa ls cgqr dqN gkfly

fd;k

(C) nksuksa (A) vkSj (B)

(D) u rks (A) vkSj u gh (B)
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25. Figure out the incorrect statement :

(A) To achieve zero growth rate of

population by 2045

(B) To reduce total fertility rate to 2.1 by

2010

(C) To reduce maternal mortality rate to

below one per 1000 live birth

(D) None of the above

26. Figure out the inappropriate statements :

(A) According to 2011 census, about

40% population was living in rural

areas in India

(B) According to 2011 census, 9.5%

population was above the 60 years

(C) Both (A) and (B)

(D) Neither (A) nor (B)

27. Figure out incorrect pair :

India's demographic transition :

(A) 1st stage  - (1901-1921) - Stagnant

population

(B) 2nd stage  - (1921-1951) - Extreme

growth of population

(C) 3rd stage  - (1951-1981) - Rapid

growth of population

(D) 4th stage  - (1981-2011) - High growth

with signs of slowing down

population

28. CBR (Crude Birth Rate) :

(A)  
year total population CBR =

No. of live birth in one year
x 1000

(B)
 
total population CBR =

No. of total child in one year
x 1000

(C) Both (A) and (B)

(D) Neither (A) nor (B)

25. fuEu esa ls vlR; dFku dks igpkfu;s %

(A) 'kwU; tula[;k o`f) dks 2045 rd
izkIr djuk

(B) 2010 rd iztuu nj dks 2.1 djuk

(C) ekr̀Ro èR;q nj dks 1/1000 cPpk de
djuk

(D) mijksDr esa ls dksbZ ugha

26. fuEu esa ls vlR; dFku dks igpkfu, %

(A) 2011 dh tux.kuk ds vuqlkj] 40%

tula[;k Hkkjr ds xk¡oksa esa jgrh gS

(B) 2011 dh tux.kuk ds vuqlkj Hkkjr
esa 9.5% tula[;k 60 o"kZ ls Åij gS

(C) nksuksa (A) vkSj (B)

(D) u rks (A) vkSj u gh (B)

27. fuEu esa ls vlR; lewg dks igpkfu, %

Hkkjr dk tulkaf[;dh; laØe.k %

(A) izFke Lrj & (1901-1921) & fLFkj
tula[;k

(B) f}rh; Lrj & (1921-1951)&vR;f/kd
tula[;k o`f)

(C) rr̀h; Lrj & (1951-1981) & rst
tula[;k o`f)

(D) prqFkZ Lrj & (1981-2011)& vR;f/kd
o`f) ysfdu de gksrh gqbZ tula[;k

28. lh-ch-vkj- ¼v'kksf/kr tUe nj½ %

(A) okf"kZd dqy tula[;k
lh- h-vkj- c =

,d o"kZ esa tUes thfor cPps
x 1000

(B) dqy tula[;k
lh- h-vkj- c =

,d o"kZ esa tUes cPps
x 1000

(C) nksuksa (A) vkSj (B)

(D) u rks (A) vkSj u gh (B)
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29. Which one of the following statement is not

correct?

(A) An approach to Human Geography

that emphasises questions of

inequality is known as welfare

geography

(B) An approach to Human Geography

that gives central and active role to

human awareness is known as

Behavioural Geography

(C) Both (A) and (B)

(D) Neither (A) nor (B)

30. Behaviourism refers to :

(A) Spatial experience and imagination

(B) Mental maps

(C) Both (A) and (B)

(D) Neither (A) nor (B)

31. Which of the statement is/are correct?

(A) The environmental determinism

dominated the writings of early Arab

Geographers

(B) Blache supplemented classical

geographical determinism with

social determinism

(C) Humanistic geography drew much

from the radical trend in geography

(D) All of the above

32. "Location Analysis in Human Geography"

was written by :

(A) Hagget

(B) Chisolin

(C) H.R. Mill

(D) Taylor

29. fuEufyf[kr esa ls dkSu&lk dFku lR; ugha
gS\
(A) ekuo Hkwxksy dk n`f"Vdks.k esa tks

lekurk ds iz'uksa ij tksj nsrk gS
mls dY;k.kdkjh Hkwxksy ds :i esa
tkuk tkrk gS

(B) ekuo Hkwxksy dk n`f"Vdks.k ftlus
ekuo tkx:drk dks dsUnzh; vkSj
lfØ; Hkwfedk nh mls O;kogkfjd
Hkwxksy ds :i esa tkuk tkrk gS

(C) nksuksa (A) vkSj (B)

(D) u rks (A) vkSj u gh (B)

30. O;ogkjokn gS %
(A) LFkkfud vuqHko vkSj dYiuk
(B) ekufld uD'kk
(C) nksuksa (A) vkSj (B)

(D) u rks (A) vkSj u gh (B)

31. fuEu esa ls dkSu&lk ls dFku lR; gS\

(A) i;kZoj.k fu;frokn 'kq#vkrh nkSj esa
vjc HkwxksyosRrkvksa  ij gkoh Fkk

(B) Cyk'k us Dykfldy Hkk Sxk s fyd
fu;frokn dks lkekftd fu;frokn
ds lkFk iwjd fd;k

(C) ekuo Hkwxksy us Hkwxksy esas jsfMdy VsaªM
ls vR;f/kd egÙo izkIr fd;k

(D) mijksDr lHkh

32. ^^yksds'ku ,ukfyfll bu º;weu ft;ksxzkQh**
uked iqLrd fdlus fy[kh\
(A) gsxsV
(B) fplksfyu
(C) ,p-vkj- fey

(D) Vsyj

[P.T.O.]
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33. In which state of India does a sizeable

population of lapchas live?

(A) Himachal Pradesh

(B) Bihar

(C) Uttar Pradesh

(D) Sikkim

34. Moplah :

(A) Muslims of Kerala

(B) Tribals of Arunachal Pradesh

(C) Tribals of Rajasthan

(D) Tribals of Madhya Pradesh

35. One of the tribes of India that has no contact

with the outside is :

(A) Jarawa

(B) Munda

(C) Oraon

(D) Birhor

36. Rabari's :

(A) Pastoralists of Gujarat

(B) Fisherman of Kerala

(C) Pastoralists of Tamil Nadu

(D) Shepherds of Nagaland

37. Gaddis are :

(A) Traders of Himachal Pradesh

(B) Traders of Rajasthan

(C) Shifting cultivation of Jammu and

Kashmir

(D) Shepherds of Himachal Pradesh

33. Hkkjr ds fdl jkT; esa ykipkl ¼yPNksa½ dh

cM+h vkcknh jgrh gS\

(A) fgekpy izns'k

(B) fcgkj

(C) mRrj izns'k

(D) flfDde

34. eksiykg %

(A) dsjy ds eqfLye leqnk;

(B) v:.kkpy izns'k dh tutkfr

(C) jktLFkku dh tutkfr

(D) e/; izns'k dh tutkfr

35. Hkkjr esa ,slh dkSu&lh tutkfr gS ftldk

ckgjh yksxksa ls dksbZ tqM+ko ugha gS\

(A) tkjok

(B) eq.Mk

(C) vksjk¡o

(D) fcjgksj

36. jckjh gSa %

(A) xqtjkr ds pjokgs

(B) dsjy ds eNqvkjs

(C) rfeyukMq ds pjokgs

(D) ukxkyS.M ds pjokgs

37. xM~Mhl gSa %

(A) fgekpy ds O;kikjh

(B) jktLFkku ds O;kikjh

(C) tEew&d'ehj dh LFkkukarj.k d`f"k

(D) fgekpy izns'k ds pjokgs
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38. Who are the pacific people well-known for

their good physique?

(A) Polynesians

(B) Micronesians

(C) Melanesians

(D) Indiona

39. Which realm is supposed to be the oldest

world of living continuous civilisation?

(A) Indian

(B) Chinese

(C) African

(D) European

40. Yellow people :

(A) Mongoloids

(B) Caucasoids

(C) Australoids

(D) Mediterranean

41. Population has a tendency to increase in :

(A) Arithmetic progression

(B) Simple progression

(C) Exponential progression

(D) Geometric progression

42. Who gave the theory of Single-Tax in

population studies?

(A) Sadler

(B) Malthus

(C) H. George

(D) K. Marx

43. Prognathous means :

(A) Depression of the lower jaws

(B) Projection of lower jaws

(C) Overted lips

(D) All of the above

38. fuEu esa dkSu iz'kkar egklkxjh; ekuo tks
viuh vPNh dk;k ds fy, tkus tkrs gSa\
(A) ikWyhusfl;u
(B) ekbØksusfl;u
(C) esykusfl;u
(D) bafM;ksuk

39. fdl {ks= dks fujUrj lH;rk dh lcls iqjkuh
nqfu;k gksus dk leFkZu fn;k tkrk gS\
(A) Hkkjrh;
(B) phu
(C) vÝhdk
(D) ;wjksfi;u

40. ihys yksx %
(A) eaxksykbM
(B) dkWd lkbM~l
(C) vkWLVsªykbM
(D) esfMfVjsfu;u

41. tula[;k esa of̀) dh izo`fRr gksrh gS %
(A) vadxf.krh; izxfr
(B) lk/kkj.k izxfr
(C) ?kkrh; izxfr
(D) T;kferh; izxfr

42. tula[;k esa ,dy dj dk fl)kUr fdlus
fn;k\
(A) lSMyj
(B) ekYFkl
(C) ,p- tkWtZ
(D) ds- ekDlZ

43. izkXuSFkl bafxr djrk gS %
(A) fupys tcM+s dk volkn
(B) fupys tcM+s dk iz{ksi
(C) Å¡ps gksaB
(D) mijksDr lHkh

[P.T.O.]
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44. Reily's law cannot be known as :

(A) Law of retail gravitation

(B) Gravity model

(C) Deterministic model

(D) Breaking point theory

45. ________ is the land of Annamites.

(A) Vietnam

(B) Malaysia

(C) Burma

(D) Thailand

46. House of Reeds are common in :

(A) West Bengal

(B) Maharashtra

(C) Himachal Pradesh

(D) Manipur

47. Log house is made up of :

(A) Ice

(B) Stone

(C) Wood

(D) All of the above

48. The reduction in international migration can

be attributed to :

(A) Restrictions imposed by the

Government

(B) Changed attitudes of the people

(C) Feeling of Nationalism

(D) None of the above

49. Which one of the following does not belong

to Mongloid group?

(A) Yakuts

(B) Red Indians

(C) Samoyeds

(D) Bantus

44. jSyh dk fu;e lEcfU/kr ugha gS %
(A) ykW vkWQ fjVsy xzsfoVs'ku
(B) xzsfoVh ekWMy
(C) fMVjfefuLVhd ekWMy
(D) czsfdax IokbaV F;ksjh

45. ________ vukfe;ks dh Hkwfe gSA
(A) fo;ruke
(B) eysf'k;k
(C) cekZ
(D) FkkbyS.M

46. gkml vkWQ jhM O;kogkfjd gSa %
(A) if'pe caxky esa
(B) egkjk"Vª esa
(C) fgekpy izns'k esa
(D) ef.kiqj esa

47. ykWx gkml cuk;k tkrk gS %
(A) cQZ ls
(B) iRFkj ls
(C) ydM+h ls
(D) mijksDr lHkh

48. vUrjkZ"Vªh; izokl dh deh dk ftEesnkj fdldks
Bgjk;k tk ldrk gS\

(A) ljdkj }kjk yxk;s x;s izfrca/k

(B) yksxksa ds LoHkko esa ifjorZu

(C) ns'k izse dh Hkkouk

(D) mijksDr esa ls dksbZ ugha

49. fuEu esa ls dkSu eaxksykbM lewg ls ugha gS\

(A) ;kdwr

(B) jsM bafM;u

(C) 'kse;sM~l

(D) cUVwl
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50. Which of the following statement is not true?

Malthusian theory on population growth :

(A) It is also known as Ecological theory

(B) Its study is based on Western

European population and society

(C) It is based on possibilistic approach

(D) It assumes that Human needs basic

things for survival

51. Which one of the following is not variables

of limit to Growth theory?

(A) Growth of food

(B) Industrialisation

(C) Pollution

(D) Transportation

52. What is Isotrophic surface?

(A) Abstract space

(B) Green field

(C) Music park

(D) Central place

53. Central Place theory is based on :

(A) Urban Hierarchy and functional

aspects

(B) Population

(C) Limitless surface

(D) Hypothetical flat surface

54. Which one of the following is not a key

concept of Christaller's Central Place Theory?

(A) Range of goods and services

(B) Threshold

(C) Spatial competition

(D) Heterogenous economical activities

50. fuEu esa ls dkSu&lk dFku vlR; gS\

ekYFkl tula[;k o`f) fl)kUr %

(A) bls ikfjfLFkfrdh fl)kUr Hkh dgrs gSa

(B) if'peh ;wjksi dh tula[;k vkSj lekt

ij bldk v/;;u vk/kkfjr gS

(C) ;g laHkooknh mikxe ij vk/kkfjr gS

(D) ;g ekurk gS fd ekuo dks thfor

jgus ds fy, cqfu;knh phtksa dh

vko';drk gksrh gS

51. fuEufyf[kr esa ls dkSu&lk pj fodkl fl)kUr

dh lhek ls lacaf/kr ugha gS\

(A) Hkkstu dh o`f)

(B) vkS|ksfxdhdj.k

(C) i;kZoj.k

(D) ifjogu

52. lenSf'kd lrg fdls dgrs gSa\

(A) HkkokRed lrg

(B) xzhu QhYM

(C) laxhr ikdZ

(D) dsUnzh; LFky

53. dsUnzh; LFkku fl)kUr vk/kkfjr gS %

(A) 'kgjh inkuqØe vkSj dk;kZRed i{kksa ij

(B) tula[;k ij

(C) vlhfer lrg ij

(D) dkYifud likV lrg ij

54. fuEu esa ls dkSu&lk fØLVkyj ds lsaVªy Iysl

F;ksjh ls lEcfU/kr egÙoiw.kZ fl)kUr ugha gS\

(A) jsat vkWQ xqM~l ,.M lfoZlst+

(B) FkzslgksYM

(C) LisfV;y dkWfEifV'ku

(D) gsVªksftul bdksukWfedy ,fDVfoVht+
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55. Kapok :

(A) Type of vegetable fibre

(B) Type of wood

(C) Type of Herbs used for the

manufacture of medicines

(D) All of the above

56. The famous 'Rice Bowl' of Japan is known

as :

(A) Chio region

(B) Hokkoido region

(C) Satounchi region

(D) Tokyo

57. The Badwin area is famous for :

(A) Silver production

(B) Iron production

(C) Silk production

(D) Coal production

58. The greatest source of ivory nuts is :

(A) Zaire

(B) Equador

(C) Guatemala

(D) Zanzibar

59. Who is the largest buyer of Indian woolens

today?

(A) USA

(B) CIS

(C) UK

(D) France

55. diksd %

(A) ouLifr Qkbcj dk izdkj

(B) ydM+h dk izdkj

(C) nokvksa ds :i esa mi;ksx dh tkus

okyh tM+h&cwVh

(D) mijksDr lHkh

56. tkiku ds ^pkoy dk dVksjk* ds uke ls

izfl) {ks= gS %

(A) lh;ks {ks=

(B) gksDdhnks {ks=

(C) lVksmaph {ks=

(D) VksD;ks

57. cSMfou {ks= izfl) gS %

(A) flYoj mRiknu ds fy,

(B) yksgk mRiknu ds fy,

(C) flYd mRiknu ds fy,

(D) dks;yk mRiknu ds fy,

58. vkbojh uV~l dk lcls cM+k mRiknd {ks= gS%

(A) tkbj

(B) bDokMksj

(C) XokVsekyk

(D) tathckj

59. vkt ds le; Hkkjrh; js'ke ¼Åu½ dk lcls

cM+k [kjhnnkj gS %

(A) vesfjdk

(B) lh-vkbZ-,l-

(C) ;w-ds-

(D) Ýkal
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60. Who declared that Human Geography is

Human Ecology?

(A) H.H. Barrows

(B) Hartshorne

(C) Carl Ritter

(D) Aristotle

61. Which Geographers attempted to illustrate the

relationship between Physical environment and

Cultural characteristics of Races?

(A) Arab Geographers

(B) American Geographers

(C) Greek Geographers

(D) All of the above

62. Who stated that Human Geography is the

study of changing relationship between

unresting man and unstable Earth?

(A) E.C. Semple

(B) V.D.L. Blache

(C) Griffith Taylor

(D) E. Huntington

63. Who formulated the concept of "Stop and

Go Determinism"?

(A) Taylor

(B) Huntington

(C) Semple

(D) Ritter

64. Which one of the following is not the concept

of Human Geography?

(A) Location

(B) Palace

(C) Space

(D) Region

60. fdlus dgk] ̂ ^ekuo Hkwxksy ekuo ikfjfLFkfrdh

gS**\

(A) ,p-,p- cSjkst

(B) gkVZ'kksuZ

(C) dkyZ fjVj

(D) vjLrw

61. fdu HkwxksyosÙkkvksa us loZizFke HkkSfrd i;kZoj.k

vkSj uLyksa dh lkaLd`frd fo'ks"krkvksa ds chp

laca/kksa dks Li"V djus dk iz;kl fd;k Fkk\

(A) vjc HkwxksyosÙkk

(B) vesfjdh HkwxksyosÙkk

(C) xzhd HkwxksyosÙkk

(D) mijksDr lHkh

62. fdlus dgk gS fd ekuo Hkwxksy v'kkar ekuo

vkSj vfLFkj i `Foh ds e/; cnyrs

laca/kksa dk v/;;u djuk gS\

(A) bZ-lh- lSEiy

(B) oh-Mh-,y- Cyk'k

(C) fxzfÝFk Vsyj

(D) bZ- gafVaxVu

63. fdlus ̂ ^:dks vkSj tkvks fu;frokn** fl)kUr

dks izfrikfnr fd;k\

(A) Vsyj

(B) gafVaxVu

(C) lSEiy

(D) fjVj

64. fuEufyf[kr esa ls dkSu&lk fl)kUr ekuo

Hkwxksy ls lacaf/kr ugha gS\

(A) yksds'ku

(B) iSysl

(C) Lisl

(D) jhtu
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65. Nasal Index is related to :

(A) Ear

(B) Height

(C) Tribes

(D) Nose

66. Tana Bhagat Movement is related to :

(A) Orang tribes

(B) Munda tribes

(C) Bhutia tribes

(D) Santhal tribes

67. M. Lefever's classification is based on :

(A) Belgium

(B) America

(C) South Africa

(D) North India

68. Who wrote the book "The Population

Problem : A Study in Evolution"?

(A) C. Saunders

(B) Blache

(C) Jean Bodin

(D) Malthus

69. Who said, "Economic development is the

best contraceptive"?

(A) Leibenstein

(B) Karl Marx

(C) C. Saunders

(D) Sidgwick

70. Where is the commercial grain farming

practised?

(A) Southern hilly areas of India

(B) Western part of Europe

(C) Australian desert

(D) North American plains

65. uklk lwpdkad lacaf/kr gS %
(A) dku ls
(B) Å¡pkbZ ls
(C) tutkfr ls
(D) ukd ls

66. rkuk Hkxr vkUnksyu lacaf/kr gS %
(A) vksjkax tutkfr ls
(B) eq.Mk tutkfr ls
(C) HkwfV;k tutkfr ls
(D) lUFkky tutkfr ls

67. ,e- ysfQoj dk oxhZdj.k vk/kkfjr gS %
(A) csfYt;e ij
(B) vesfjdk ij
(C) nf{k.k vÝhdk ij
(D) mRrj Hkkjr ij

68. fdlus ^^n ikWiqys'ku izkCye % , LVMh bu
boksY;w'ku** fy[kh\
(A) lh- lkm.MlZ
(B) Cyk'k
(C) thu cksnka
(D) ekYFkl

69. fdlus dgk] ^^vkfFkZd fodkl loksZRre
fujks/k gS**\
(A) ykbcsLaVkbu
(B) dkyZ ekDlZ
(C) lh- lkm.MlZ
(D) fltfod

70. okf.kfT;d vukt dh [ksrh dgk¡ dh tkrh gS\

(A) Hkkjr ds nf{k.kh igkM+h {ks= esa

(B) ;wjksi dk if'peh {ks=

(C) vkLVªsfy;kbZ jsfxLrku

(D) mRrjh vesfjdh; eSnku
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71. The primitive people of Japan are :

(A) Ainu

(B) Bantu

(C) Sakai

(D) Vedda

72. Near neighbour statistics is applied to test

the randomness in :

(A) Animal population

(B) Human settlements

(C) Drainage density

(D) Transportation

73. Which one of the pair is incorrect?

(A) J.A. Garnier - Geography of

Population

(B) R. Woods - Population Geography

and Developing Countries

(C) G.T. Trewartha - The More

Developed Realm : A Geography

of its Population

(D) Zelinsky - A Prologue to Population

Geography

74. Hierarchy of urban places is determined on

the basis of :

(A) Population size

(B) Function

(C) Area

(D) Growth rate

75. Which one of the following capital cities was

initially built in the form of puzzle box?

(A) Beijing

(B) Rome

(C) Tokyo

(D) Vetican City

71. tkiku ds vkfne yksx gSa %

(A) ,suw

(B) carw

(C) ldkbZ

(D) osn~nk

72. ------- ;knf̀PNd ijh{k.k djus ds fy, fu;j

uscj LVsfVLfVDl dk mi;ksx fd;k tkrk gSA

(A) i'kqvksa dh vkcknh esa

(B) ekuo cLrh esa

(C) ty fudklh ?kuRo esa

(D) ifjogu esa

73. fuEu esa ls dkSu&lk tksM+k lgh lqesfyr ugha gS\

(A) ts-,- xkfuZ;j & ft;ksxzkQh vkWQ
ikWiqys'ku

(B) vkj- oqM~l & ikWiqys'ku ft;ksxzkQh
,.M Msoyfiax daVªht

(C) th-Vh- VªssoFkkZ & n eksj MsoyIM fj;Ye
% , ft;ksxzkQh vkWQ bV~l ikWiqys'ku

(D) tsfyaldh & , izksykWx Vw ikWiqys'ku
ft;ksxzkQh

74. 'kgjh LFkkuksa dk inkuqØe fdlds vk/kkj ij
fu/kkZfjr fd;k tkrk gS\
(A) tula[;k ds vk/kkj ij
(B) dk;ksZa ds vk/kkj ij
(C) {ks=Qy ds vk/kkj ij
(D) fodkl nj @ o`f) nj ds vk/kkj ij

75. fuEufyf[kr esa ls dkSu&lk jkt/kkuh 'kgj 'kq: ls
gh ity ¼igsyh½ ckDl ds :i esa cuk;k x;k Fkk\

(A) chftax

(B) jkse

(C) VksD;ks

(D) osfVdu flVh
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76. Hinter land is frequently applied to :

(A) the area in the middle of the plateau

(B) the area commanding a central

position

(C) the area served by a port

(D) none of the above

77. Shanty town refers to :

(A) extreme poverty, backing in

amenities and exceptionally high

mortality rate

(B) a district of temporary, squatter

dwellings

(C) generally overcrowded

(D) All of the above

78. If all the urban settlements in an area are

ranked in descending order of population,

the population of the nth town will be 1/nth

that of the largest :

(A) Central place theory

(B) Hierarchy of towns

(C) Rank size rule

(D) Law of primate city

79. The 'Tone of Discard' is the :

(A) CBD of present

(B) CBD of past

(C) CBD of future

(D) None of the above

80. Permating is :

(A) A dry point settlement in Malaysia

(B) A wet point settlement in the

Netherlands

(C) A dry point settlement in Indonesia

(D) All of the above

76. fgaVj yS.M vDlj mi;qDr gksrk gS %

(A) iBkj ds e/; dk {ks=

(B) dsUnzh; fLFkfr esa dekafMx {ks=

(C) iksVZ }kjk lsfor {ks=

(D) mijksDr esa ls dksbZ ugha

77. eM+bZ dLcs fufnZ"V djrs gSa %

(A) vR;f/kd xjhch] lqfo/kkvks a dk
fiNM+kiu] vR;f/kd e`R;q nj

(B) vLFkk;h] vukf/kd`r vkoklksa dk ,d
ftyk

(C) lkekU;rk HkhM+ HkkM+ okyk bykdk

(D) mijksDr lHkh

78. ;fn fdlh {ks= dh lHkh uxjh; cfLr;ksa dks
tula[;k ds vojksgh Øe esa Øec) fd;k
tkrk gS rks nosa 'kgj dh tula[;k lcls cM+s
'kgj dh tula[;k dk 1/4 ok¡ gksxh %
(A) dsUnzh; LFky fl)kUr
(B) dLcksa dk inkuqØe
(C) jSad lkbt fu;e
(D) izkbesV flVh dk fl)kUr

79. ^Vksu vkWQ fMldkMZ* D;k gS\
(A) orZeku dk lh-ch-Mh-
(B) Hkwrdky dk lh-ch-Mh-
(C) Hkfo";dky dk lh-ch-Mh-
(D) mijksDr esa ls dksbZ ugha

80. ijesfVax gS %

(A) eysf'k;k dh 'kq"d fcUnq cfLr;k¡

(B) uhnjyS.M dh vknzZ fcUnq cfLr;k¡

(C) baMksusf'k;k dh 'kq"d fcUnq cfLr;k¡

(D) mijksDr lHkh
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81. Who divided the study of Human Geography

into four parts?

(A) Taylor

(B) Blache

(C) Brunhes

(D) Ratzel

82. Prof. Roxbi has divided Human Geography

into :

(A) 6

(B) 4

(C) 15

(D) 5

83. Who gave Growth Pole Theory?

(A) Perroux

(B) Blache

(C) Ritter

(D) Demangeon

84. Which one of the following is not a supporter

of Environmental Determinism?

(A) E. Kant

(B) Humboldt

(C) Ritter

(D) Reclus

85. Which approach has been used by Thomas

Malthus is his Population Growth Theory?

(A) Possibilistic approach

(B) Pessimistic approach

(C) Deterministic approach

(D) Environmental approach

81. ekuo Hkwxksy ds v/;;u dks pkj Hkkxksa esa

fdlus foHkkftr fd;k Fkk\

(A) Vsyj

(B) Cyk'k

(C) czwa'k

(D) jSVts+y

82. izks- jkWDlch us ekuo Hkwxksy dks fdrus Hkkxksa

esa ck¡Vk gS\

(A) 6

(B) 4

(C) 15

(D) 5

83. xzksFk iksy F;ksjh fdlus izfrikfnr dh\

(A) isjkSDl

(B) Cyk'k

(C) fjVj

(D) fMekaft;k¡

84. fuEufyf[kr esa ls dkSu&lk okrkoj.k fu'p;okn

dk leFkZd ugha gS\

(A) bZ- dkaV

(B) gEcksYV

(C) fjVj

(D) jsDyl

85. FkkWel ekYFkl us vius tula[;k of̀) fl)kUr

esa fdl mikxe dk iz;ksx fd;k gS\

(A) laHkkoukoknh mikxe

(B) fujk'kkoknh mikxe

(C) fu;rkRed mikxe

(D) i;kZoj.kkRed mikxe

[P.T.O.]
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86. Jengka triangle is located in :

(A) Malaysia

(B) Indonesia

(C) Netherland

(D) India

87. Who divided any urban area into three

zones?

(A) A.E. Smailes

(B) Dickinson

(C) J.H. Johnson

(D) Harris

88. The peasant chalets are a type of settlement

common in :

(A) Germany

(B) Hungary

(C) Netherland

(D) Switzerland

89. The major theme in Human Geography in

the 1960s was :

(A) The study of spatial system

(B) The study of spatial organisation of

society

(C) Quantitative Mathematical

Geography

(D) All of the above

90. The 'Radiant City : Idea of City Planning' was

propounded by :

(A) Clarence Perry

(B) Le Corbusier

(C) A.S. Mata

(D) F.L. Wright

86. tsudk f=Hkqt fLFkr gS %

(A) eysf'k;k esa

(B) baMksusf'k;k esa

(C) uhnjyS.M esa

(D) Hkkjr esa

87. fdlus fdlh Hkh 'kgjh {ks= dks rhu Hkkxksa esa

ck¡Vk gS %

(A) ,-bZ- Lekby

(B) fMfdalu

(C) ts-,p- tkWulu

(D) gSfjl

88. ihtsUV pSysV izdkj dh cfLr;k¡ lkekU;

gSa %

(A) teZuh esa

(B) gaxjh esa

(C) uhnjyS.M esa

(D) fLoV~tjyS.M esa

89. 1960s esa ekuo Hkwxksy dk izeq[k fo"k; Fkk %

(A) LFkkfud iz.kkyh dk v/;;u

(B) lekt ds LFkkfud laxBu dk

v/;;u

(C) ek=kRed xf.krh; Hkwxksy

(D) mijksDr lHkh

90. ^mTtoy 'kgj % 'kgj fu;kstu dk fopkj*

fdlds }kjk izfrikfnr fd;k x;k Fkk\

(A) DyhjsUl iSjh

(B) yh- dkjcqlj

(C) ,-,l- ekVk

(D) ,Q-,y- jkbV
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91. Which of the following countries has attained

replacement level population growth?

(A) France

(B) China

(C) Sudan

(D) Iran

92. Settlements of desert areas are

characterised by :

(A) Evenly distributed population

(B) Dispersed population

(C) Nucleated population

(D) Scattered population

93. Which of the following is the typical features

of the Negroid race?

(A) Black skin

(B) Prognathous jaw

(C) Broad nose

(D) Scanty hair on the bow

94. The concept of demographic transition is

based on the trends in :

(A) Fertility rate

(B) Birth and death rate

(C) Life expectancy

(D) Rural and urban migration

95. According to U.N. population division, the

lowest fertility rate is in :

(A) Australia

(B) France

(C) Sweden

(D) Italy

91. fuEufyf[kr esa ls fdl ns'k us tula[;k of̀)

dk izfrLFkkiu Lrj izkIr dj fy;k gS\

(A) Ýkal

(B) phu

(C) lwMku

(D) bZjku

92. e#LFkyh; {ks= dh cfLr;ksa dh fo'ks"krk gS %

(A) leku tula[;k forj.k

(B) ifj{ksfir tula[;k

(C) dsUnzd tula[;k

(D) fc[kjh gqbZ tula[;k

93. fuEufyf[kr esa ls dkSu&lh usxzksbM iztkfr dh

fof'k"V fo'ks"krk;sa gS\

(A) dkyh peM+h

(B) izkWXuSFkl tcM+k

(C) yEch ukd

(D) ukd ij de cky

94. tulkaf[;dh; laØe.k dh vo/kkj.kk

fuEufyf[kr izof̀Rr;ksa ij vk/kkfjr gS %

(A) iztuu nj

(B) tUe vkSj e`R;q nj

(C) thou izR;k'kk

(D) xzkeh.k vkSj 'kgjh izokl

95. la;qDr jk"Vª tula[;k foHkkx ds vuqlkj

lcls de iztuu nj gS %

(A) vkLVªsfy;k esa

(B) Ýkal esa

(C) LohMu esa

(D) bVyh esa

[P.T.O.]
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96. The Egyption type of Population Resource

Region is characterised by :

(A) High technology, low population

resource ratio

(B) High technology, high population

resource ratio

(C) Low Technology, High population

resource ratio

(D) Low Technology, low population

resource ratio

97. Which one is called Europort?

(A) London

(B) Amsterdam

(C) Hamburg

(D) Rotterdam

98. Strong - Point settlement occurs near the :

(A) Passes

(B) Hill topes

(C) Bridge sites

(D) All of the above

99. The Villages of Larraine (France) are notable

for their :

(A) Linear pattern

(B) Star shaped pattern

(C) Square and compact design

(D) Rectangular pattern

100. Hyper markets are shopping centres

located :

(A) Near the C.B.D.

(B) Near rail-road junction

(C) Out of town

(D) None of the above

96. feL= dh 'kSyh ds tula[;k lalk/ku {ks= dh

fo'ks"krk gS %

(A) mPp izkS|ksfxdh] fuEu tula[;k

vuqla/kku vuqikr

(B) mPp izkS|ksfxdh] mPp tula[;k

vuqla/kku vuqikr

(C) fuEu izkS|ksfxdh] mPp tula[;k

vuqla/kku vuqikr

(D) fuEu izkS|ksfxdh] fuEu tula[;k

vuqla/kku vuqikr

97. ;wjksiksVZ ds uke ls tkuk tkrk gS %

(A) yanu

(B) ,ElVMZe

(C) gSEcxZ

(D) jkWVMZe

98. LVªkax IokbaV lsVyesaV gksrk gS %

(A) njkZ esa

(B) igkM+h pksVh esa

(C) fczt lkbV esa

(D) mijksDr lHkh

99. foyst vkWQ ykWjsu ¼Ýkal½ izfl) gSa %

(A) jS[kh; vkd̀fr ds fy,

(B) rkjkdkj vkd`fr ds fy,

(C) oxkZdkj vkSj dkWEiSDV fMtkbZu ds

fy,

(D) vk;rkdkj vkd`fr ds fy,

100. gkbij ekdsZV esa fLFkr 'kkWfiax lsaVj gaS %

(A) lh-ch-Mh- ds ikl

(B) jsy&jksM taD'ku ds ikl

(C) 'kgj ds ckgj

(D) mijksDr esa ls dksbZ ugha
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Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigi lator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiq fLrdk es a dk sbZ deh gk s ] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ysaA

A C D

A D

A C D

B

A C D

A D

A C D

B


